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(d)
A Y5 A A R 7 9w weft owg €
TR UE ®Y §- SR, Sssod, s

(©)
HIA Teh TGN I € TSR q@H T Hifehed
B 2, 9 geft qe vt 7

(a)

T’ T, A T IR TAM AT AAA, TEHHA
R < B E

(b)

TR 99 v €, 99 gl agee vt €l

@)

Skl TEH WeE | gelSt ToRerSt vk B fagent
T U I & A1 UM Tk ey 93 7 FoTgeht
ae9d &Y firdl et )

(d)

forel <1 st & wesl i Tt oA T3 wrsaf
o T g 71 S% W TS HEl W 21 SE
- SaeE (AUSH + fe=t), dwued (WRE +
fe=s), fehesr (o=t + f&e=si)|

T (H&Rd) + UM (TFhA) = WERIM, q: T8
Th FHY K T T |

(d)

FHHA H GHEETE] U B- oS, GUS, TSi,
ohsl, T, RfAR 3K | TR, ATed sl T
3= § A fF #ua #b

(d)

sl v ‘eer’ % wE Y B € gU-
AfaAmeT, T9fedasia, i, ficr, e, o,
TOE, SR A0S | 3T 591 Tt 1 &l 2|

(c)
A 1 fIam 75 U B R

(d)
T3 1 Giy-famss T WY +

11.

12,

13.

14.

(2-A)

(@)
AEA: “gaRT UM d9€ T R Rl -
“sifa | et fera S E 2

(b)
‘srerr’ § gud We ® YYEAl §, ofd: TEd
srerfitaE 999 B

(©

T, T, fagmon, fea 9 wetia s fasr
qeaodiys, fowEfcas | Hatdd s
At ¥ B 2l

(d)

fe=t & &% difert €, fo= Suwmd e s €
o Udl fa<t o Siferat: s, s, e
o ufyent fe=<t wt sifeat: awww, @
Aelt, SJeAEE!, Hsh, ST, Sfere, SRt
foert fe=<t @t «iferat: Afech, =,
ST

TereaT Tt it aiferat: weret, dard,
ARETS!, S

TSt fet A sferar: HERH, Tgered
afeerdt it el e 1 S e e
S A e E e e
e 29 7, TE wRor 9 7 wegel 29§ aied
S §1 WS Al o q@ w9 H e, fasei
% ST aiel W E1 S STUR W g
fedt sl 3¢ @1 &9 e gaml WiTE w ST
71 ‘efEmeE’ st wEd € g% uSa & <o
a7 ¥ foeedR W dieht S €1 | fage &
IR AT W et w1 & uw w9 E, o
Toel SR e 1 fHHOr B SIS wgy %
AU sSHed § el s gl el wfec &
e H gSA H 3=4 &I w1 weA Ffid
T3 Tl 3T 3 i F e SARIgae * oo’
Fel T W HA W oS diel 99U el u_e
&I Hifefcaesn oo & €9 # 7 B T off, fohe
Hifefcash S99 § 99 & 33 YR o WY 3
widl % Wl S T w1 o fasor 81wt T
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% HeF qYoTd T el o arel diet g1 39 T
AR FoHed € IR qHd AR ot #1 &7 T
I G g oot St ® R e @ e
S D WE €, T€ SSIA B & A S 2
et Jlerae w1 3T 21 eoEe B gua-quy
TSI % e 3T i gL, Fh! HFA |
Tl AT T YAS WE <@ S 2

(@)
et 1 & diferar 8, f5 St e S 2
o Udl fa<t o Siferar: sTash, s, Siee
o ufvedt fa<t @t aiferat: oW, Wl
dietl, SRerEe!, =Sl STE, SfeRat, shizel
o fugit et = oifear: Afeh, wwEl,
ST
o ToweT Tt Wt siferat: e, Herd,
A, S
o UErEl fe<t &t siferar: fuR, Tear
ol &t 1 & g S| URY, W WRW q
TdE 9% famgd 21 @ ofaid I ifeEt
IMHE 1 STl 8- S, Seell SETEll s
T Aadl 9 el & fae=d 39 YeR fema
kel -
sadfi- orEell stEy w1 diell ¢ 39 Sl @
& oGS, HoER, WA, edrql o THeel
e fagga B1 wlskhea w1 < Y@ URd- gE
Tmawmwﬁmmmgﬁaﬁﬁﬁﬂa
|
ToEl- el THerEE w del T 98 SW R &
TR, fesrene, 9HEg @R faeiqr foe o sieft
S B1 et SR wEelt § gal gHEA § TR
%o fagr 9 e @t Sudel aFd 2

(b)

faes o 9 ¥ e ¥ S R q@d e
g fet 7 fow 9 € T U gp faoeh =
Frefefed 2

° 3Nt umr ¥ fAU WU v owR, foE,
FOd, AHR, Ioold, TN, dehid, foham,
°  REN uTHT ¥ AU U yTeE: SR, AHHE,
for i, RER, 99k, M, 61, SO,

o gehl Wl ¥ foIq T vIsg: U, g, T,
M, I, TES

17.
18.
19.
20.
21.

22.

23.

24..

25.

26.

27.

(3-A)

o T W ¥ feTT U vieE: WM, werEn

o ydwmel wrar ¥ fow W vew: e, aee
3R el

(b)
(c)
(d)
(d)

(b)

Forests help regulate the climate by absorbing
carbon dioxide (a greenhouse gas) and releasing
oxygen through photosynthesis.

(©

The passage states that forests cover
approximately 31% of the Earth's land area.

(a)

The passage mentions that trees play a key role in
the water cycle by absorbing and storing water,
which helps regulate the balance of rainfall in an
area.

(b)
The passage lists logging, agriculture, and
urbanization as the main contributors to

deforestation.

(©)
The passage emphasizes the importance of
conservation programs that aim to reduce
deforestation and protect endangered species.
communities,

Individuals, and governments

should work together on these initiatives.

(b)

“Monumental”  means  something

very
important or significant. It fits the context of a
groundbreaking discovery, which is something

important.

(a)

In indirect speech, the present perfect "have
been" changes to past perfect “had been,” and the
word “this” changes to “that” when converting to
indirect speech.
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30.

31.

32.

33.

34.
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(@)

"Eloquent" refers to being fluent, persuasive, and
expressive in speech, while "inarticulate" means
not being able to express oneself clearly.

(b)

The correct spelling is "disappoint."

(©

Both sentences are punctuated correctly. In
sentence I, the comma is correctly used to separate
items in a list, and in sentence II, commas are
used correctly around the non-essential clause
“who is very tall.”

(@)
"Kick the bucket" is a euphemism for dying.

©

Both statements are correct. Apostrophes show
possession or form contractions, and periods are
used to end declarative sentences.

(b)

"Fervent" means having or displaying intense
passion or enthusiasm, which fits the context of
inspiring others with dedication.

(d)

On dividing the given number by 8, let q be the
quotient and 4 the remainder. Hence, number =
8qt+4

Square of the number = (8q+4)* = 64>+ 64q+16
= 649>+ 64q+8+8

=8 (8¢*+ 8q+1) +8. Hence reminder = 8

(b)
First letter in increasing sequence, X,Y,Z,A then

B

2nd Jetter in decreasing sequence, X, W, V, U,
then T

3" Jetter in increasing sequence, Y,Z,A,B, then C

()

Logic: (2™ letter place value — 1* letter place
value) +1

Hence, AD =4-1+1=4,DJ=10-4+1 =7, Hence,
JO=15-10+1=6

37.

38.

892

40.

41.

42,

(4-A)

(@)
Difference  between next number and
previous number is increasing in the order,
1,3,5,7,9,11,13,15
(@)
The given information can be represented by
Venn diagram given in option (a) as shown
below.
Meat
Fish
Both fish and meat
Vegetarian
Dinner party
(@
V-T=22-20=2
T-P=20-16=4
P-J=16-10=6
J-B=10-2=8
(d)
Rakhi’s sister’s brother -> Rakhi’s brother.
Father of Rakhi’s brother-> Rakhi’s father.
Only son of Rakhi’s father -> Rakhi’s brother
(0
Pipe A fills the cistern in 10 hours, so in 1 hour, it
fills 1/10 of the cistern.
Pipe B empties the cistern in 15 hours, so in 1
hour, it empties 1/15 of the cistern.
When both pipes are open together, the net rate of
filling the cistern is:
Net rate=1/10—1/15=1/30
So, in 6 hours, the part of the cistern filled will
be:
1/30 x 6 = 1/5.
(@)

Let the distance travelled be x km, then
x/12 = (x+24)/16. Hence x = 72km
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(@)
Sum = n(n+1)(2n+1)/6

(@
Starting at East, 135° clockwise — South-West.

450° clockwise from South-West — 360° (1 full
turn) + 90° — North-West.

180° anticlockwise from North-West — South-
East.

Final Direction: South-East.

(d)
From 2007 to 2017, sum of odd days = 14. Hence
2018 will have same calendar as that of 2007.

(d)

After shifting 6 places to the left, Kamal is 15th
from the left end of the row. Thus, kamal’s
original position was 21th from the left end.
Sonu is 7 places to the right of kamal’s original
positions

Clearly, sonu is 21 + 7 = 28th from the left end.
Number of boys to the right of sonu = (70 — 28)
=42,

Thus, Sonu is 43rd from the right end of the row.

(b)
Time from 2 PM Tuesday to 4 PM on the
following Tuesday= 7 days 2 hours = 170 hours.

The watch gains (2 +4  4/5) min.
or

34/5 min. in 170 hrs.

Now, 34/5min. are gained in 170 hrs.

Hence, 2 min. are gained in [170 x 5/34x 2]
hrs= 50 hrs.

Watch is correct 2 days 2 hrs. after 2 PM on
Tuesday i.e., it will be correct at 4 p.m. on
Thursday.

(d)
N = H.C.F. of (6500 - 1500), (9000 - 6500) and
(9000 - 1500)

=H.C.F. of 5000, 2500 and 7500 = 2500.
Sum of digits in N =7

(@)

Physical barriers are external factors, like
noise or technical issues, that interfere with the
communication process

50.

51.

52.

53.

54.

5S.

56.

57.

(5-A)

(b)

The largest square that can be inscribed in the
circle will have the diameter of the circle as the
diagonal of the square.

=> Diagonal of the square = 2R

Then, area of square = 2R?

(@

Semantic barriers arise from differences in
meaning or understanding of words and language,
causing miscommunication.

(b)

The channel is the medium through which the
message is transmitted from the sender to the
receiver, such as air, cables, or optical fibers.

(a)

Using clear and universal terms helps overcome
cultural differences and ensures that the message
is easily understood by a diverse audience.

(@)

Analogies and metaphors make complex topics
more relatable, helping people with different
levels of familiarity understand the information.

(b)

The volume of the voice can indicate whether
the speaker is angry, excited, or calm, helping to
convey emotions.

(b)

Short sentences and focusing each paragraph
on one idea help maintain clarity and ensure the
message is easily understood.

(d)

This conclusion is possible but not necessarily
true. While all dogs are mammals and some
mammals are pets, it doesn’t mean that all dogs
are pets. So, this conclusion is not definitely true.
Conclusion 2: All pets are mammals.

This conclusion is false. The statement “Some
mammals are pets” only implies that a subset of
mammals are pets, not all pets. There could be
other types of pets that are not mammals, such as
birds or reptiles.

Therefore, the correct answer is (A) Only
conclusion 1 follows.
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(@
From June Ist, 2000 (Thursday) to June Ist,
2005, there are 5 years.
e Leap year: 2004.
* For 4 regular years, the day advances by 1 day
each, and for 1 leap year, the day advances by
2 days.
= Total: 4x1+1x2=6 days forward.
* So, 6 days forward from Thursday:
» Thursday — Friday — Saturday — Sunday
— Monday — Tuesday — Wednesday.

(b)

Logic : n*tn starting from n=1. Hence, when n =
7, n>tn

=49 +7 =56

()

Logic: Alphabet followed by next alphabet’s
place vale and then next alphabet. Hence, Option
C should be O15Q.

(@

The woman says, “That person’s mother is my

mother’s daughter.”

* “My mother’s daughter” refers to herself,
because she is her mother’s daughter.

* Therefore, the person in the photo’s mother is
herself, meaning the person in the photo must
be her daughter.

So, the correct answer is (a) The woman’s

daughter.

(b)

H.CF.(a,b) x L.CM. (a,b)=axb
Given:

« H.CF.=45

e L.CM.=2025
e One number, a=225
Hence, other number = 2025 * 45 /225 =405

(b)
An author writes a book, just as an artist creates
a painting.

(d)
Let the speeds of the two trains be x m/sec and y
m/sec respectively.

65.

66.

67.

68.

69.

70.

71.

72.

(6-A)

Then, length of the first train = 24x metres, and
length of the second train = 18y metres.

Hence, (24x + 18y) / x+y =20

=> 24x+18y = 20 x+ 20y

=>4x =2y, Hence x/y = 1/2

(©)
Surface area of cube = 6a?
If new side = 2a, then new area = 6(2a)* = 24a”

Hence, percentage change in the area = (24 -6)/6
* 100 =300%

(b)

A significant difference between the mean and
median usually indicates that the data is skewed
or contains outliers, which affect the mean more
than the median.

(b)

When the mean is less than the median, it suggests
that the distribution has a left (negative) skew,
with a longer tail on the left side.

(©)

In a symmetric distribution, the mean and median
will be equal because the data is evenly distributed
around the center.

(b)

The mean is sensitive to outliers and extreme
values, which can distort the representation of the
central tendency, making it less reliable in such
cases.

(@

The total work =12 men * 18 days = 216 man-
days

Now, let the number of men required to finish the
work in 12 days be x. The equation becomes: x *
12 =216 man-days => x = 18. Hence 6 additional
men are required.

(©
Logic: Second number = (First number * First
number + First number)

(b)
Logic: second number = (First number)* + First
number
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75.

76.

71.

78.

79.

80.

81.
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(@
The process begins with observing the
phenomenon, followed by formulating a

hypothesis, conducting experiments, analyzing
results, and drawing conclusions.

(d)

Let the third number be x.

Then, first number = 125% of x =125x/100=5x /4
Second number = 140% of x =140x/100=7x/5
Ratio of first two numbers =5x/4:7x/5= 25:28

(d)
South- West

(@)
This sequence follows the factorial pattern:
11,21, 31,41,51.6!

(@)

» John is Emily’s brother.

* Emily is Oliver’s mother.

* Oliver is Patricia’s son.

Since Emily is Oliver’s mother and John is

Emily’s brother, John is Patricia’s brother-in-
law.

(b)

The availability heuristic leads people to
overestimate the likelihood of events that are
more easily recalled from memory, often because
they are recent or emotionally charged.

(@

* Assertion (A) is true because active listening
helps in communication by focusing on
understanding the speaker’s message.

* Reason (R)isalsotrue because active listening
requires full attention, which helps in better
comprehension and appropriate responses.

©

GeorgeR. Terryisknown fordefiningmanagement
as the process of planning, organizing, leading,
and controlling resources to achieve goals, which
is a comprehensive definition of management

(d)
e Assertion (A) is
communication is sometimes more effective,

false because verbal

82.

83.

84.

8s.

86.

87.

88.

(7-A)

especially for immediate interaction and
clarity.
* Reason (R) is true because written
communication provides a permanent record,

which can be referred back to for clarification.

(b)

* Political apathy is often caused by a perceived
lack of effectiveness in the political system,
where individuals feel that their participation
or vote does not make a meaningful difference.

* Increased access to information, engagement,
and strong leadership generally foster political
participation, not apathy.

(a)

Experimental research involves manipulating
variables to observe their effects, often used to
establish cause-and-effect relationships

(b)

Descriptive statistics involves summarizing and
interpreting numerical data to present insights
about a dataset, often using measures like mean,
median, and standard deviation.

(a)

The framing effect occurs when people react
to a particular choice differently depending on
whether it is presented in a positive or negative
light, even if the outcome is the same.

(b)

Confirmation bias occurs when individuals
only pay attention to information that confirms
their existing beliefs or opinions, leading to

misunderstandings and miscommunication.

(a)

Meta-communication refers to communication
about communication, where the sender and
receiver are aware of the additional, often non-
verbal, messages and cues in the exchange.

(b)

* The main purpose of an algorithm is to solve
a problem or perform a task in a finite
number of well-defined steps.
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(d)

* Functional fixedness occurs when a person
can only see an object used for its traditional
purpose, such as thinking of a rubber band
only as something to bind papers, and not
considering other creative uses.

(b)
Each of the three rings can have any one of the 10
different letters in 10 ways.

Therefore, the total number of attempts = 10 x 10
x 10 = 1000.

But out of these 1000 attempts, only one attempt
is successful.

Therefore, the required number of unsuccessful
attempts = 1000 — 1 = 999.

(d)
Angle traced by hour hand in 12 hrs = 360°.

Angle traced by hour hand in 5 hrs 10 min.
1.e.,31/6 hrs = 360/12 *31/6=155°.

(d)

REASONING — REAS O NING K 15T HALF
AND LAST HALF REVERSED AND MIDDLE
LETTER REMAIN AS IT IS X SAEROGNIN
and EXAMI N ATION X IMAXENNOITA,
then, COMMUNICATION X COMMUN I
CATION X NUMMOCINOITAC

(d)
Given figure can be labelled as follows.
A B C

I

H G F ] D

Single triangles = KAGH, XABI, XAIG, XCJE,
XFJE, KCED = 6
Triangle formed with two triangles

= MABG, XCFE, KAGE, KAJC, KAEC, XEIG
=6

ey

94.

95.

96.

97.

98.

99.

Triangles formed with three or more triangles
=NXFCD, KAHE =2
KTotal number of triangles=6 + 6+ 2 = 14

(d)
In (1237)'33, unit digit is 7.
So, the unit digit of 7'%%is 7.

In 25172, unit digit is 1. Hence unit digit =7 x 1
=7

(d)

Almost 2 Ladies

There can be one or two

=°P »°P +P P = 5* 120 +20 * 60 = 600 +1200

Hence, 1800 ways are possible

(a)

* The Divide and Conquer approach involves
dividing a larger problem into smaller, more
manageable subproblems and solving them
independently, often recursively.

(a)

The anchoring bias causes people to rely too
heavily on the first piece of information (the
anchor) they encounter, which can influence
subsequent judgments or decisions, even when
that anchor is irrelevant.

(b)

Heuristics are mental shortcuts that help

individuals make quick, effective decisions

without having to process all available
information.
(b)

The Waterfall Method is a linear and sequential
project management approach where each phase
must be completed before moving on to the next
one.

100.(c)

(8-A)

The product backlog is a list of tasks and
requirements in Agile development, prioritized
for iterative work completion in each sprint.
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